AOTIZTIKOI APIOGMOAEIKTEZ — ACCOUNTING RATIOS
Acgikteg ATrod00ng (N Kepdogopiag) — Profitability Ratios

(i) Agiktng MeikToU lMepi1Bwpiou ) Meiktou Képdoug (Gross Profit Margin)

Agiktng MeikTou Képdoug = Meuero KepBos o 100% =%

HwA\oELS

. . _ Gross Profit
Gross Profit margin = Gross Profit 100%

Sales

(ii) Agiktng KaBapou Mepi8wpiou | KaBapou Képdoug (Net Profit Margin)

, . _KaBapo6 Képdog 0/ — 0
Aciktng KaBapou Képdoug T X 100% =%
. . Netl
Net Profit margin = Net Icome « 100% = %

Sales

(iii) Agiktng ATr6doong AtracxoAoupevwy (Etrevoupévwy) KegaAaiwv
(Return on Capital Employed-ROCE)

KaBapd Képdn mptv amd t0kovc& pdpovucx

Amédoon AtraoxoAoupevwy KepaAaiwy = X 100% = %

Amacyolovusva Kepdlaia

Net Income before interest& taxes

ROCE = X 100%

Capital Employed

PROBIT**
OR ROCE = , X 100% =%
Capital Employed

*I1a TOV UTTOAOYIOWO, JE TNV TTPWTN €VVOIa, XPNOIKOTTOIEITal TO KaBapd kEPSOG TTPIV
agaipebouv ol TOKOI
Evw pe Tnv deUTEPN XpnoiyoTTolEiTal TO KaBapd kKEPOOG PETA TNV aPaipeEcn TOKWV
*PROBIT=profit before interest and tax as it can easily be remembered

H évvoia Ttou 6pou «Atracxoloupeva Kegpdahaia» (Capital Employed) ptropei va
TTepIAauBavel Ta akOGAouBa avaAoya PE TO TTOI0 AKPIBWS TTANPOYOPIa ETTIOIWKETAL:
e Share Capital + Reserves + Long-Term Liabilities (i.e. Debentures) = Total Capital
Employed
(1010 KepdAaia + ATToBepaTIKG + MOKPOXPOVIEG YTTOXPEWOEIG)
e Share Capital + Reserves = Owners Capital Employed
(1610 Ke@daAaia + ATroBepaTiké)



Acgikteg PeuotoéTnTag — Liquidity Ratios
(i) Agiktng KukAog@opiakng (f Mevikng) Peuotdétnrag (Current Ratio)

KvkAopopilakd Evepyntikd

Aciktng KukAogpoplakng Peuototntag =
NS popiakns nras BpayvnpdOeaues YToYpeEWTELS

Current Assets

Current ratio = ——
Current Liabilities

(i) Agiktng Mpaypartikng (A E1dIkAg) PeuotétnTag (Acid Test or Quick ratio)

KvkAopopiako Evepyntiké—Anobeuata

Aciktng MNpayuatikng Peuotdtntag =
NG Hipavu ns fras BpayvnpdOeaues YToYpEWTELS

. . . Current Assets—Inventor
Acid Test (or Quick ratio) = 4

Current Liabilities

Acgikteg ApaoTtnpioTnrag — Activity Ratios (Use of assets)

(i) Agiktng KukAogopiakng Taxutnrag Atrofsudtwy (Inventory Turnover)

Acgiktng KukhopopiakAg TaxuTnTag ATToRepdTwyY = —<Somosliotiocoy ) 54

M¢éoog '0pog AmoOepudtwv

Cost of Sales

Inventory Turnover =
Average Inventory

Average inventory= (Opening+closing)/2 =? times

(i) Méon MNepiodog Eiompagng (Average collection period)

Ewompaktéol Aoyapiaouoi

Méon trepiodog gioTrpagng =

X 365 uépec =? uépeg

MNwAWoels e Tictwon

Accounts receivable

Average collection period =

X 365 days =?days

Credit sales
(iii) Méon MNepiodog NMAnpwung (Average payment period)

Anpwrtéot Aoyapiaoguol

Méon trepiodog TTANPWMNG = X 365 uépeg = ? uépeg

Ayopéc ue miotwon

Accounts payable

Average payment period = X 365 days =? Days

Credit purchases



Acikteg Xpéoug R MéxAeguong (Solvency Ratios)
(i) Aegiktng ZuvoAikng Aavelakng Emipapuvong

. . A . Zéva Kepblaia
AeikTnG ZuvoAikng Aavelakng EmRapuvong =
ns ns ns Bap ns ZV0voldo Aacyodovuévwv kepalaiwv

X100 =--7%

X100 =-- 7%

. . Fixed Return Fundin

Gearing ratio = , J
Total Capital Employed*

*Share Capital + Reserves + Debentures
Fixed interest capital = long term borrowing

Acikteg AtroTipnong (Valuation Ratios or Investment ratios)
(i) Tiun mpog képdn ava peroxn (Price/Earnings or P/E ratio)

, , . . _ XpnuatioTipiakh Tyl petoxic .
Tiun TTPOg KEPON ava PeToXN Kepdm avi peroxt = .- POPES

Price/Earnings (P/E ratio) = —arket Price

Earning per Share

= ... times

Na Tov uttoAoyIopo Tou KEPOOoUG ava ueToxr, EQapuOlOUNE TOV TTIO KATW TUTTO:

. p p Képén petd tn popoloyia
KépSoc ava MeToyr = —a EET2 11 $OP220Y
ZUVoAlkdG apll uds LETO YOV

*Or Profits attributable to equity (ordinary) shareholders

Earnings per Share (EPS) = Profitafter tax

Number of ordinary shares

(il) BaBuog KaAuwng Mepiouarog Koivwv Meroxwyv (Ordinary Dividend cover)

BaBudg KdAuywng Mepiopartog Koiviv MeToxwv

_ Képdn petd tn popoloyla—péplopua mpovouoLoL Y wV UETO YOV
h Mépioua Twv ovviln UETO YWV

. - Net Profit after tax—preference share dividend
Ordinary Dividend cover = fitaf ; pref —
ordinary share dividend

(iii) Arodoon Msroxrnc o Mépioua us Baon tnv Tpéxouoa Tiun (Dividend yield)

.. . dividend per sharex
Dividend yield= P
market price of a share

x100 = --- 9

.. total dividend
*dividend per share =
number of shares




